Fow Can Vou Visit the Sun Without «

Solve each problem, then Cross out the letter next to the correct answer.
" When you re finished, the answer to the title question will remain.

1 5x—9)=2x+ 15 .

* 3 The square and the triangle

@6400 have equal perimeters.
A. Find the value of x.

s B. Find the perimeter. -
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M. 38| - 4 The equilateral mangle and the
rectangle have equal perimeters.
@ 8h A. Find the value.of x. ' X
. 3 44 B._Find the perimeter. Sy : o =
'3(%4-5\ = 1(21—33+2x g ¥ EA=g
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(b 8§ The Red Bus Company charges $150 plus $72 per hour to rent

8|~

:;Z}g a bus. The Blue Bus Company charges $240 plus $54 per hour.

N A. For what number of hours Would the companies charge ' \
* 500) | PO, J | same? .. .. STk 5 ;

’E) -3l B What Would the charge be for that number of hours?

< 2| 150 +712Y = 7_404\—5%( |

@580 - 6 Suppose it is 40° inside your reﬁ'igerator and 340° fn31de your
' oven when the power goes out. The refrigerator temperature

Go ot Wght

AR $7500 starts rising at the rate of 5° per hour. The oven temperature
Lh = starts dropping at the rate of 45° per hour. -
A. How long will it take for the temperatures to be the same? ,

O ) 65° B.- What will the temperature be then?- '
& sn| -40+5X—340+'45>(
Wl 6hi 7 Suppose you write a  book. The pnnter charges $4 per book to
M - o8 print it, and you spend $5500 on advertising You sell the book

for $15a copy. .

-.A. How many copies must you se]l to-break even (total cost
equals income from sales)? :

. What is your income (or total cost) for that many. copies?

y ¥

PUNCHLINE « Bridge to Algebra ‘ 5)‘ - X 55 OO — G Equations, Problems, and Functions:
©2001, 2002 Marcy Mathworks ¢ 53 ¢ Using Equatcons with the Variable on Both Sides

b
W
Scanned by CamScanner




#ml Can \Ibu \flst{- e Qm Wh Bumma Uo

s D) Sf\m 2 2% + 15 @ In-204 O\"Z‘L\nl—\")
S%-H5 + 9% +15 '7rv20= 36N +9°
*45 +us ~
5X % 2 0 Tn-27 F 2er
-x - ix TN -~n
DX F LN -29 % 2
3|73 23 ?qn
X =20 r"‘"\ = i’\)
Piranale - ,.5&:”\‘@ P triamsle. o f rectonale,
@Gl A+ X +T F d(x-3N (D 3(u5) ¥+ 2(24-2) +2x
utiz Uy 12 Bx+5 3 Y¥-( +2x
s SX115E  bx =,
ZA+20E YX Ve +e
> = %N F (X
20 .{: Z‘x -3 “3X
10 unrts= x| -
Lut\H'S \
’ Red = Blue, r\wwf" A = b(‘l"‘
@ 1';2_91:‘?2‘& - %:be +54 ¥, e & e ui}{ﬁj
%(\m\e«( G 2[‘1(1 3)4.2,
T2% & 90 +54X = 7(n) + MJ
54 . =22+
+ 40 = oOb
‘8187} O}b < niks |
(% =5 hours) e
Red = 150 +72(5) = 3510 i
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Afgerator  + over (D_15x-4%-5500 4 0
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